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MENSURATION - 3D ASSIGNMENT

The radius of solid sphere and solid hemisphere is same. Then the ratio of
curved surface area of solid sphere, total surface area of the solid

hemisphere and curved surface area of solid hemisphere is

Q81 SoweLw  SHeawio  CamensHlet  QoTSHSHUTLIL  (euemeTUTLIL]),  SH6uILD
SITHCHTeNHHeT  QoTdHs  UBlugli] wB@Id  SHewio  DienyHGHmernd e
UMSTUTLILSBEHEE 2 _6iTell all&ISHID

A 4 cm. cube is cut into 1 cm. cubes. The total surface area of all the small
cube is

4 GF.18 2 LW ST FEHPOTEH 1 OF.6 2 eLuwl AP ST FHITHIGNTD
Ceul LLiLpFBa eteied FBlw sar FgiImiSelen CTeHs LIl wrg?

A wooden box of 2 cm thickness has inner measurements 6 cm long 2 cm

breath and 1 cm height. The volume of the box is
2 Q.15 el CsTewiL 2 6T Sene] 6 GF.5 Hend 2 GF.L6 SIH6EVD LOBBID
1 Q&8 2 _wyb 2 6ten WIUOLLIQUTED LOFSHHET H6T SIGTOUTEIH]

An iron right circular cone of diameter 8 cm and height 12 cm is melted
and recast into spherical lead shots each of radius 4 mm. How many lead

shots can be made?

8 Q&5 allLwb 12 Q@15 o wyupd Osmewi @@ GBT eu' L  Hewio
GmbYS SIDUTIH 2 (HhSSILULH 4 0.5 uypeien Hewind GHmem allgel
GMIBBENTE  UTTHBLILLLTeL Bl db@Gd  Csmem  alged  GHewr(BH6 6o
6TGmT6mNheND 616116161167

The radii of two circular ends of a frustum shaped bucket are 15 cm and 8
cm. If its depth is 63 cm, find the capacity of the bucket in litres

RH BmLSHwL  algaleomer euTemule GuBUB OBBID DIQUILIB  DYTHISH6N
wepBw  156F.10 wBpd 8 OF.15 Guwebd oD 63 GF.L5 eleled, DIH6T
Oameieneneney 6L LMD &SHTewiss.
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The radii of two right circular cylinders are in the ratio of 3 : 2 and their
heights are in the ratio 5 : 3. Find the ratio of their curved surface areas.
Brei® GCphiTeul L o (hewendelem ouymideilesr aldlsbd 3 : 2 eleid. Goed
SauBpler o wgmiseller aldlsbd 5 0 3 eeled Sleumsledt  eUEMEITLITLIL|S6NT 60T
AlFHD HTEwIS.

A hemisphere and a cone have equal bases. If their heights are also equal,

than the ratio of their curved surfaces will be
RH mIHCHTEN(PID, FnlbLd @BF DIYLIISHHHMSH CdTaniBHelTener. Sieummler
o WD &b 6660 SjeuBmlerr euenenLILILNe eSS 616160 ?

A rectangular piece of paper has length 14 ncm and breadth 10/ncm. A
cylinder is formed by one rolling of the paper along its length. Then
volume of the cylinder is

R Ogeleusd algel Hreflear pemd 1470515 SiH6e0D E@&f.Lﬁ HTENMTIS
7

perdhHer  auPfCw @  pemdB  FHLLLUUGISHET  cpedld  @hH 2 (THeWeI
® _(HaUTHSBLILLLITEL DI _(HeneTUWla! H6ol 966 WITghl?

A lead pencil is in the shape of right circular cylinder. The pencil is 28 cm
long and its radius is 3 mm. If the lead is of radius 1 mm, then find the

volume of the wood used in the pencil.

R Oueidleonangl e ChTaul L o (Hewem eaugealled o sfengl.  OueidFeden
permb 28 OF.15 wBEID DIHeT P 3 .5, CueaTFlelanell SiMbHSEH mLOUT6
(Fgm.emul’) &1 b 1 0.5 etefled, OueiiFled Hwimflds LWSTLGSHSULL L
OTLILIGOENHUTEHT H6T  DIeTTeNaIS HT6uH.

A tent is in the shape of a right circular cylinder surmounted by a cone.
The total height and the diameter of the base are 13.5 m and 28 m. If the
height of the cylindrical portion is 3 m, find the total surface are of the

tent.
RH  SLITOTRIH 2 (hewemule 16g dnlb] Sevewihd allgaled 2 6iTengl.
&LMGHI6  Cords o wgd 135 15 wBpbw el 28185 GLoguitb
o (Hewell UTHSHeT o wgd 3 15 elefled, dmLMySHdHen CordHgh LBLUTlemLd
SBITE0IH

A solid sphere of diameter 6 cm is dropped into a right circular
cylindrical vessel with diameter 12 cm, which is partly filled with water.
If the sphere is completely submerged in water, how much does the

water level in the cylindrical vessel increase?
Flsenayy Sewrewim  HLulLLL 12 OF.15 ellL(peiTem o (hHewelm  algelLl
UTSHHTSHHe0 6 OF.15. el L(peten e Hawind CaTeNHmsd (WPIPEUSHIOTS
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PDEF  OQFUIHTED, 2 (HemeT eUgalll LTHAHTHHe0 o Wwiibdh BT UL SHHl6
2 WTHMBHS SHT60Ib.

Water is flowing at the rate of 15 km/hr through a cylindrical pipe of
diameter 14cm into a rectangular tank which is 50 m long and 44 m wide.
In how many hours will the water level in the tank raise by 21 cm?

506 ped 4415 oEeu(eiien  OFeleus  OFHTI9edled 14 &5 el L (Weiter
o mewenm aligal  GWTule  eufwns 15 @S/ wenll  CaushHev  Hevwenf
alpdeipg. 21 GF.6. Sleney BTOLLLD o wiy GCouewiBLOTaITed LG SHTev
SI6T6).

A wall is to be constructed with length 60 m, breadth 3 m and height 5 m.
How many bricks are required to construct a wall with length 30 cm,
breadth 15 cm and height 20 cm?

permd 6015 oiHevld 3 1S @ wgb 5 15 o ewLw &euT erapliu pemd 30 QF.16
ipeold 15 Qg6 o _wgb 20 GF.15 o L w CFmsBseT shHmenr Cheneu?

The internal and external diameters of a hollow hemispherical vessel are
20 cm and 28 cm respectively. Find the cost to paint the vessel all over at ¥

0.14 per cm?.

o oafLMBB @ IHCHTET algaud HleWMIHHBE @ FHT OF.15-5&
alfewid L& 0.14 aisd OFeoeun@ld. iFHer o Luys  oBmild  Geuefiiym
Al Lmise (pewpBui 20 G&.15 wBmid 28 OF.15 elelled, SIHMT (LPIDENLOWITS
QUTewID LLF elelelena] OlFevaum@Ld?

A right angled AABC with sides 5 cm, 12 cm and 13 cm is revolved about

the fixed side of 12 cm. Find the volume of the solid generated.

5 @15, 12 Q.15 wBmd 13 G515 LSS Sleneydel CETewiL @(h OFmIGHTemr
AABC gpang 12 Q.15 [Henm(pelienl DIGHeT @H LbSDHMSH DNFFTHSH OBTeni(h
SLoBBULGLEUTEH @ (HuT@D bl ST Sieneneud HewiBLIL.
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